Answers to Assignment 4 (62, 92, 112, 116a)
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b, P{X =30)= F[z:IO)- F(15,10) = 930
c. P{X=t)=P(at least n events in time t) = P( Y = n) when Y ~ Poisson with parameter At .
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125 25

d. E(X)=

ars] b +22$) «12.5; VarX) =

(B-aF 625
2 12 l

= 52.083
2

12,
. F\(.\')—P(Y¢>‘)~P{60x-sy)—l’.(Xsi]-F L;a Thus fy(y)
L 60 608

\ -l S;Jt‘
Ly e , —_—
-/(L;a o ——- B , which shows that ¥ bas a gamma distributton
\ 604 J 605 (604)°I'(a)

with parameters a and 60,

b,  With ¢ replacing 60 = 8, the same argumeest shows that ¢X has & gamma dstinbation
with parameters a ané cf.

116.

8. Flx)= e " and F(x)= l=¢ 7, s0r(x) =

w A, aconstant (ndependent of X);

e

e
this is consistent with the memoryless property of the exponential distribution.



